— 'EAEYX0OC OWOTAG EKTOTIWONGS 06nyol
0 10 20 30 mm 1. Mpiv TNV ekTOTTION PePaidBEiTe TG O PLBUICEIG TOL EKTUTTATA oag Ba SIaTNPENCoLY TO
payuanko péyeBog TG aeidag kal ey Ba TTapapop@@aouy TNy KAlLaka.

(Na va &eiTe TIg pLBUICEIG TOL ekTLTTIWTN oag TTaThaTe CTRL+P)

2. MeTa TNV ekTOTTICION LETRNAOTE TNV SImAavr) urapa, Ba Tipemel va eival 3 ekarooTa.

Confirm printed paper size

1. Prior to printing ensure that Page Scaling is sef fo “None" on your print dialogue box.
(To open the print dialogue box press CTRL+P)

2. After printing measure the bar on the left, it should be 3 centimetres.

MedS va YETPROETE TO VOLUEPO OAg

1. Algh&ETe Eva SayTuAibl TTow oag kavel oTo SayTLAL TToL Tag evliagipel, PpovTioTe To SayTLAISI va tival TTPOYYLADL OXNUATOC ETWTEPIKA,
¥wpic avoiypara kal pikpol papdoug (1bavika 2-3 xihooTd, eva amho Pepdkl).

2. TomoBeteloTe TO SAXTLAISI OTOLC TTARAKATW KUKAOLC KaI PEEITE TTOIOC KUKAOC £apUOlel KAAITEDA OTNY ETWTERIKN SIGUETRO TOL
Sayxtuhibion. Av gioTe avapeoa ot SV voLpepa SIahé€Te TO peyahLTEPO.

3. ITn cuvéxea Ppeite TNy aviiaToixia avAueoa g SIQUETOOL TOL SAXTLAIGION CAC KA TOL VOLNEPOL CAgC OTNY AUEDIKAVIKN KAILAKO QTTo
ToV akoAoLBo TTivaka.

How to measure your ring size

1. Pick a ring that fits at the finger you want to wear your new ring. Make sure you use a ring that is round from the inside and has no
openings and with a small width (around 2-3 millimetres like a wedding band ring is a good choice).

2. Place the ring on the circles below and find the one that fits best in the inner diametre of your ring. If you are in between sizes, choose

the bigger one.
3. You can now find the right ring size at the USA scale by matching the diametre of the circle with the sizes shown at the table in the

next page.
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